
3 (a) If A =
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 and B =
−⎛
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,  find the matrix C such that C A A B= −( ).

(b) Let P z z i z i z i( ) ( ) ( ) ,= − + + + −3 210 29 10 29  where i2 1= − .

(i) Determine the real numbers a and b if
P z z i z az b( ) ( )( ).= − + +2

(ii) Plot on an argand diagram the solution set of P (z) = 0.

(c) (i) Let ω1
1
2

3
2= − + i  and ω ω2 1

2= ( ) .
Verify that
x xy y x y x y2 2

1 2+ + = − −( )( ),ω ω  where x y, .∈R

(ii) Express 2 1 3( )− i  in the form r i(cos sin ).θ θ+
Using De Moivre’s theorem find the values for

[ ( )]2 1 3
3
2− i

and write your answers in the form p qi p q+ ∈, , .R

ANSWERS

3 (a) 10 12
18 20
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(b) (i) a b= − =10 29, (ii) i i,5 2±

(c) 4 0 85
3

5
3(cos sin ),π π+ ±i i
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